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OBJECTIVE QUESTIONS

. The demand factor for a residential load is about

(@) 2.1 1.2 () 0.2 (d) 0.7

. The diversity factor (a) is always more than | (b) is always less than 1 (¢) may be less or

more than 1 (d) may be as high as 100.

Which statement is true

(@) peak diversity factor and group diversity factor are always equal.
() peak diversity factor is always less than group diversity factor.
©) pgak diversity factor cannot be less than group diversity factor.

(d) peak diversity factor may be more or less than group diversity factor.
The demand factor is equal to

(a) maximum demand/connected load.
(b) connected load/maximum demand.
(¢) maximum demand/average demand.
(d) average demand/connected load.

. The chronological load curve shows

(@) The variation in demand from instant to instant during 24 hours.

(b) the total number of hours for which a particular load lasts during the day.
(c) the total energy consumed upto different times of the day.

(d) variation in demand factor during 24 hours.
The load factor is equal to

(a) average load/peak load.
(b) peak load/average load.
(c) average load/connected load.
(d) average load/base load.
The curve shown in Fig. A-1 is i
(a) chronological load curve. 0 8760
(b) annual load duration curve. HOURS—>
(c) mass curve. .
(d) energy load curve. Figs Arl
The load factor of the curve shown in Fig. A-1 is Vs
(a) 70% (b) 60%
(c) 50% (d) 20% ‘
The energy indicated by the curve of Fig. A-1 is
(a) 876000 MWh (b) 175200 MWh E
(¢) 525600 MWh (d) 438000 MWh
The curve shown in Fig. A-2 is "
(a) annual load duration curve. R0%

: TIME —
(b) load duration curve.

(¢) chronological load curve.
(d) mass curve.

100

L

100%

Fig. A-2
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enerating plant

Fot‘ —
¢ utilisation facto

0 th ris always |ogs than |

(

©

(L
ot
p e utilisation factor is always oy
ilisati ¢
" he unltsatfon factor may be o than 1.
he utilisation factor and Joag o or less than 1.
i 0
¢ CapaClty f8Ct0r Of a Plant is equal
l}' m&ximum load/aVerage load
. aximum ‘Oad/plant cﬂpacity

©"

hich of the following is correct
103.3;-3 f?icszrfa ::apa=c1ty fac}or X utilisation factor.
p) uti usa. Ctor = capacity factor x load factor
0 Capacity factor = load factor/utilisation factor '
capacity factor = load factor x utilisation fact;)
which of the following is true "
(a) the load factors of base and peak load plants are always equal
(b) the load factor of peak load plant is always more than that of base load plant.
() the load factor of base load plant is always more than that of peak load plant.
(d) the load factor of peak load plant may be more or less than that of base load plant.
6. A mass curve can be plotted from
(a) load duration curve.
) chronological load curve.

(c) energy load curve.
(d) both load duration curve and chronological load curve.

7. If the rated plant capacity and maximum load of a generating sta
(b) capacity factor is 1.

(d) utilisation factor is poor.

rare always equal.
to

(b) average load/maximum load.
(d) average Joad/plant capacity.

tion are equal, then

(a) load factor is 1.
(c) load factor and capacity factor are equal.
. 18. The capital cost of a plant depends on
(d) total installed capacity only.
(b) total number of units only.
(¢) total installed capacity as well as number of units.
" (d) neither the installed capacity nor the number of units.
19, Plants A and B have the same total installed capacity and are installed at the same time.
However plant A has 10 units and p
(a) capital costs of both the plants are equal.
(b) capital cost of plant A is more than that of B.
(c) capital cost of plant B is more than that of A
(d) capital cost of plant A may be more or less than that of B.

D

lant B has 5 units. Then

— o e P
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20. The interest on the capital cost is i :
(@) annual fixed cost.p W S p) annual operating €Ot 3%
11 Kot o et @ ther e ey e
o o ST Pt s 9 L
(¢) may increase or decrease. (d) remains the sami=*
22. The annual depreciation reserve depends on
(a) capital cost only. 3
(b) capital cost and salvage value only.
(¢) only the method of calculating depreciation reserve. .
(d) the capital cost, salvage value and the method of calculation-
23. Which of the following is wrong ? Jant
(a) operating cost of a hydro plant is less than that of a steam P ; ’
(b) operating cost of a nuclear plant is less than that of hydro plaﬂt-
(¢) operating cost of a diesel plant is more than that of a steam P a:n .t
(d) operating cost of a steam plant is more than that of a nuclear plant.
24. The long term load forecast is needed for
(a) planning the addition in generation capacity.
(b) operation of the plant. .
(¢) planning the addition in generation capacity as well as operation of the plant.
(d) economic operation of the plant.
25. Two areas A and B have equal connected loads. However load diversity in area A is more
than that in B. Then
(a) maximum demands of the two areas would be equal.
(b) maximum demand of A would be more than that of B.
(c) maximum demand of B would be more than that of A.
(d) maximum demand of A may be more or less than that of B.
26. The fuel cost is included in
(a) annual fixed cost. (b) annual operating cost.
(¢) both the annual fixed cost and operating cost. |
(d) either fixed cost or operating cost.
27. Which of the following plants requires maximum space for storage of fuel
(a) hydro-electric plant. (b) diesel plant.
(c) steam plant. (d) nuclear plant.
28, The po.we.r which must be available even under emergency conditions is known as
Ea)) ;pmmng reserve. (b) cold reserve.
c¢) firm power. hot re
29. EA synchronous capacitor can supply 9 e
a) lagging vars only. -
(c) both leading and lagging vars. EZ)) Le;?;:rg lva;s. only. ;
30. The addition of static capacitors in a system S LYo OF B R
(@) improves system stability. (b
) decreases system stability.

(c) has no effect on system stability. (d) none of the above
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nits for incremental cost are ,
11 s, per MWD (5) Rs. per MW
@ gs. " (d) Rs. per hour.
(C)o gcﬂcra""g plants feed a Joad centre through a transmission network. For maximum

oﬂomx - ¢
¢ e incremental fuel cost should be the same tor the two stations.
@ the tWO stations should share the load in the ratio of their installed capacities.
(t) . more efficient plant should supply more load.
© he incremental cost of power delivered at the load centre should be the same for both
(@ e plants.
he principle of incremental costs is used.
1o decide the total plant capacity to be operated.
@ 1o decide the load allocation between units in operation-
(lf o decide the sequence of adding units.
y all the above.

¢ penalty factor

# Th) g always less than 1. (0) is always more than 1.
(ﬁ) may be more or less than 1. (d) is equal to oOf less. th.an 1.
A system has two sources having plant loadings P, and P,. The transmission loss P, is
3. @PlBit P,P,B,, + P,> B,
@ 2P,* By = PPy By £ 212)2 By
@ BByt 2la Bt EaBy
(d) none of the above. i
A generating unit in a power system is generating 100 MW. It is known that transfer o
3. MW from this unit to the load centre causes a transmission loss of 15 MW. The penalty
factor for this unit is
(a) 0.7 (b) 0.85 (c) 1.15 @ 1:43 -
3. Ifa generating unit is situated very close to load centre the penalty factor for this ur.nt is
(a) about 1 (b) zero (¢) infinity (d) negative.
3. A generating unit has an incremental production cost of Rs. 60 per MWh. If the penalty
factor for this unit is 1.2. the incremental cost of power delivered is
(a) Rs. 50 per MWh (b) Rs. 72 per MWh
() Rs. 61.2 per MWh (d) Rs. 48 per MWh
39, The units for heat rate are ‘
(a) k cal/kWh (b) kWh/k cal (¢) k cal/hour (d) kW
40. The advantage of hydro plants is
(a) low operating cost.
(b) they can be started and loaded very quickly.
(c) they can be used as base load plants as well as peak load plants.
(d) all the above. .
41. The run off river plants have very high firm capacity.
0 (a) true (b) false

I;or maximum economy the generation schedule in a hydro-thermal system should be decided
Yy

(a) maximum hydro efficiency method.

(b) equal incremental plant costs.

(¢) constant steam generation.

(d) solution of co-ordination equations.

.
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. OPER oL g
43, z;l;ersuf:cessful parallel operation of alternator is dye 1o the presence of ((d)
(© rehuctance () sesciancs ction .
44. Two altern R @ am'.nat\fre o .increased 5 @
nators A and B are operating in parallel. If excitation of A is (t
(a) reactive power of A is increased while that of B is decreased- !
(b) reactive power of A is increased while that of B is remains unchanged. "
() reactive power of A is decreased. ¢
Bia Sl‘a}'\)e :;:;l:i;eal and reactive power of A are increased: ' o 58 ‘
g of real power by two alternators operating in parallel depends &
(@) voltage-load characteristics. (b) speed-load characteristics.
(c) both voltage-load anq speed-load characteristics. 59.
" Slf:\)e Z’;;‘ct;iloor:ss -of the two‘machif\ei.m )
) 1 maxim
(a) full load. A R (b) a load slightly higher than full load, 60-
(¢) twice ful] load. (d) no load. L
47. An alternator js operating on an infinite bus bar. If the excitation of the alternator 1s increased
(@) real power output of the machine will be increased.
(b) power factor of the machine will decrease. 4
(c) power factor of the machine will increase. 6
. (d) both the real power and power factor of the machine will dgcrease.
48. An alternator is supplying a load. If the excitation of the alternator is changed then
(a) power factor of the alternator will change. ¢
(b) terminal voltage of alternator will change.
(¢) both terminal voltage and power factor will change.
(d) either power factor or terminal voltage will change.
49. An under-excited alternator operates at
(a) lagging power factor. (b) leading power factor.
(¢) unity power factor. (d) leading or unity power factor.
50. Which of the following statements is correct in respect of alternators used in steam plants
(a) they have horizontal configuration. (b) they have generally 2 or 4 poles.
(¢) they have small diameters. (d) all the above.
51. Generally the alternators used in hydro-electric plants have horizontal configuration
(a) true (b) false
52. Which of the following have, generally, salient pole construction
(a) alternators used in steam plants. (b) alternators used in hydro plants.
(¢) both (a) and (b). (d) neither (a) nor (b).
53. An excitation system should have
(a) low time constant. (b) high transient response.
(¢) high reliability. (d) all the above.
54. When two alternators are running in perfect synchronism the synchronising power is zero
(a) true (b) false.
55. Modern alternators use
(a) electromechamical voltage regulators (b) magnetic amplifier regulators.

(¢) electronic regulators. (d) none of the above.
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 system needs injection of vars

"wi,eak Joad. (b) at off-peak |

t at off-peak load.
y ;oth at peak k"*’d a.nd off-peak load. P )
0 the load is neither too high nor too low.

heﬂ : "
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67.

68.

65.

6.

(b) :0 p mpensate for line losses.
1 qupply @ part of active powier requiremen? of the load.
( 1 reactive power at a bus have a great effect on the voltage magnitude

changes !
: of 6 at bus (b) of distant busses
(. of all the busses (d) none of the above.

i (c)e maxim“m permissible change in system frequency is

i 6% (b) £ 5% (c) + 2.5% (d) £ 1%
powef System
n2 " action of pfloop is faster than that of Q-V loop.

th
((a; he action of Q-V loop is faster than that of p-f 100p-
(

(
I a

b

; the speed of response of both Q-V and p-f loops is almost the same.

ine action of p-f loop may be faster or slower than that of Q-V 100P-
¢ units for speed regulation of governor are

h
{a) Hz (b) Hz per MVA
(© Hz per MW (d) none of above.
The speed regulation R for a large size alternator is about
(@10 Hz per MW (b) 5 Hz per MW

(©) 1 Hz per MW (@ 0.02 Hz per MW
At times of peak load a power system needs T
@ injection of lagging vars. (b) injection of leading vars.
(c) injection of lagging or leading vars. (d) none of the above.

At times of low loads a power system needs

(a) shunt capacitors
(c) shunt reactors

A load curve is a plot of

(a) load versus generation capacity
(c) load versus time

(b) synchronous condensers
(d) all the above.

(b) load versus current
(d) load versus cost of power

In a system the base load is the same as maximum demand then the load factor is
(@) )0

(¢) infinity (d) 1%

Which of the following plants takes Jeast time in starting from cold conditions to full load
condition

(a) nuclear plant (b) steam plant

(¢) hydro electric plant (d) gas turbine plant

A high diversity factor of the load in a power system

(a) reduces the installation cost of plant

(b) increases the installation cost of plant

(¢) does not affect the installation cost of plant

(d) any of above
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69. Flow of active power through a line i
(a) tap changi:go transformgerh e DRSO bs:i;?u:‘:o tr‘::-f?nna'
(¢) synchronous phase modifier g’g m above
70. The pumped storage scheme is employed to supplY
(a) during peak load hours (b) during off-peak hours
71 f:) waag @ a“\))\{l ol :m::nccted load of 40 MW
. enerating station has a maxi demand of 20 MW and ¢ 1
To%al units generated are 4??; ‘rl“(;!’nper year. 'cl,‘he dem;nd factor is
(a) 2 (®) 3
1 L
72. A synchronous condenser is 2 :
(a) dc generator (b) induction motor
(c) over excited synchronous motor (d) under excited s?mchronous motor
73. The advantage of static capacitors for improvement of power factor is
(a) low loss (b) little maintenance cost
(c) ease in installation (d) all the above
74. The area under load curve divided by 24 gives
(a) average load (b) peak load
(c) minimum load (d) energy generated
75, A 100 MW station is connected to infinite bus. If its exitation is increased, the terminal
voltage will
(a) increase (b) decrease
(c) remain constant ~ (d) any of above
76. The modern trend in electric power generation is
(a) to have large number of small sized plants situated at different places
(b) to hdve large sized thermal plants near load centre
(¢) to have large sized thermal plants near coal fields.
(d) none of above
77.  An alternator is connected to infinite bus. If excitation of alternator is increased
(a) real power output of generator increases
(b) power factor of alternator decreases
(¢) power factor of alternator increases
(d) both (a) and (c)
78. A hydro electric power station is commonly found in
(a) desert areas (b) hilly areas
(c) swamps (d) grass lands
79 Which of the following is more than 1?
(a) load factor (b) demand factor
(c) diversity factor (d) capacity factor
80. Plant capacity factor is

(a) actual energy produced/maximum possi
on installed capacity)

T Y
(

ble energy that could have been produced (based

(b) actual energy produced/(plant capacity * hours for which the plant has been in operation)

(¢) energy generated in a given period/(
plant)
(d) none of above

maximum demand * hours of operation of the



/d secting element s system, the passive element which can be used as

f

A (b) resistor

@ sacitor ;

o . (d) any of ahove

0 ronous machine is underexcited, i .

(,(a sY“ch rexcited, it operates at lagging power factor when operated

;’ ous motor
# gnehro? (b) synchronous generator

o

§1.

(g 5{3“3, (a) or () (d) none of above
; 0{ .T‘Chronous' generator connected to a pOWET System, increasing the excitation will
; crease reactive power generation
@ pcrease reactive power generation
crease active power generation

ki :
p) increase active power generation
(M ost Of (he steam turbo generators are wound for
} 7 poles (b) 10 to 20 poles
() 20 to 30 poles (d) 6 poles
i order 10 have lower cost of electrical energy generation it is necessary 1o have
7) low joad factor and diversity factor
p) low load factor and high diversity factor
(©) high load factor and low diversity factor
7 high joad factor and high diversity factor
in the load Juration curve of an integrated system, the uppermost crust represents the €neTgy
contributed by
(a) base power stations (b) major thermal stations
(c) peaking hydro or gas stations (d) any of above
A consumer has a connected load of 2 kW and a maximum demand of 1kW. The demand
factor 15
(a) 2 (b) 0.5 (c) 4 (d) 025

If the load on a stand alone generator is increased without increasing the mechanical power

input to the prime mover

(a) the generator will slow down

(¢) the generator voltage will increase

(d) the generator field current will increase
When two ac generators arc operating in parallel and the field current of one of the generators

is increased, it will
(a) take a larger share of load (b) speed up
(c) cause a flow of reactive power between the two machines

(d) take a smaller share of load

Changes in load division between sync
accompalished by

(a) adjusting the generator voltage regulators

(8) changing the mechanical power input to prime movers of the generators
(¢) lowering the system frequency

(d) increasing the system frequency

(b) the generator will speed up

hronous generators operating in parallel are
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91.

.3

93.

94,

9s.

96.

97.

98.

99

When the mechanical power ﬁwtoxhcm mover of a synchronous moropq.mg
in parallel with other generators, is increased, the rotor of the generator will
(a) increase in average speed

(b) retard with respect to stator rcvolving field

An ac generator is Operating with g fiejd current of 100A. If the field current is increased 1o
125A with the

same electrical oaq on the machines, it will
(@) be less apt to go gyt of synchronous (b) be more apt 1o go out of synchronisy,
(c) operate at a pew torque angle (d) overheat

Phase shift occurs between the sending and receiving ends of ac transmission lines ag a
result of

(@) reactance of lines (b) resistance of lines

(¢) voltage a1 which the lines operate (d) conductor sir.x
When power is transferred between two power systems, power will flow from the power
system with

(a) the greater leading power angle (b) the lesser leading power angle
(c) the higher voltage level (d) the lower voltage level

Two power systems A and B are operating in parallel. If system A increases generation

deliver 100MW to system B and system B does not simultaneously reduce generation,
what will be the effect

(a) frequency will decrease

(¢) frequency may or may not change
When a phase shifting transformer’s ta
phase position

(a) var flows will increase (b) var flows will decrease
(c) these will be an increase in power flow in the line
(d) voltage will be increased

In a single phase circuit, the active power is the product of

(a) voltage and current in the circuit

(b) voltage, current and sine of angle between voltage and current
(¢) voltage, current and tangent of angle between voltage and current
(d) voltage, current and cosine of angle between voltage and current
Var flows in a circuit

(@) from a point of higher voltage to that of lower voltage

(b) from a point of lower voltage to that of higher voltage

(¢) without any effect on the voltage of terminals
(d) none of these

(b) frequency will increase
(d) voltage of system B will rise
ps are moved in such a direction as to advance the

When a 100 MVA generator is operating at 0.8 logging power factor the vars produced are
(a) 80 (b) - 80 (c) 60 (d) -60
When it is required that a synchronous generator should generate more vars then
(@) field current of generator should be decreased
(6) field current of generator should be increased

(¢) speed of machine should be decreased
(d) mechanical power input to machine should be increased

=\

—
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high voltage line, under . |
o8 ider peak load conditions, var compensation is provided by

S T
#" o5 inductors
! ne (b) shunt inductors

R )
(#) ot capacitors
st in aci (d) any of abo
L flow in a circy; ) y of above
‘ AL vars rcuit, the Josses in the circuit

Vﬂ‘ east
o et (b) d
’ 4 Lo rease or d ecrease
((6) ey o (d) will not be affected

circﬂi‘ with appreciable capacitance, the receiving end vol o
é :2: will alw:}"s be :;:wcr thar‘\ sending end voltage s s o o pomctios
o may b€ igher than sending end voltage
will always be equal to sending end voltage
(C) of above
( n many different types of sources are available, these SOurces should be used in such a
"' waY that
;) steam generators supply maximum load
sieam generators supply minimum load
overale production cost is minimum
{he most efficient system should supply more load.
when load on a thermal plant is increased, the fuel input

is- o) is not affected (b) decreases
(©) increases (d) any of above

" The use of incremental heat rate curves of thermal generating plants is to find
(a) total fuel cost in Rs. per hour (b) cost of generation
(©) loading of different generators (d) all the above

The advantage of computer control of thermal generating units is that
(a) var output of generators can be optimised
(b) all generators will supply equal loads 4
(c) each generator will be loaded proportional to its rating
(d) units will be loaded so as to operate at equal incremental cost
108. When thermal generating units are loaded as per equal incremental cost criterion, the
(a) fuel costs are minimum (b) production costs are minimum
() generation cOsl is minimum (d) total annual cost is minimum
109. Ina system with hydro as well as thermal generating units, the proportion of hydrogeneration
can be increased by
(a) increasing the price (gamma) of water
(b) reducing the price (gamma) of water
(¢) increasing the field current of all generators
(d) increasing the field current of hydro generators
110. In economic dispatch including transmission losses, the effect of increased penalty factor is
10
(a) increase load on that generator (b) decrease load on that generator
(¢) Keep the load on that generator constant  (d) either (a) or (b)
1. In a power system with long transmission lines, economic dispatch means
al costs at generator buses (b) equal incremental costs at load buses

107.

(@) equal increment
(¢) equal load on all generators
(d) that generators share the load proportional to their rating

;
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112. Governors for speed control of generating units ‘
(a) flat speed load characteristic provide
(b) an increase of speed units increase of load 17
(c) a decrease of speed with increase of load
(d) either (b) or (c) depending on size of generator

113. Two synchronous generators are operating in parallel. One of
higher droop will

and the other has 8% drop. The generator with

(a) tend to take less load (b) tend tO take more load

(¢) take the same load as the other generator (d) either (b) or (©) .
114. In P-f control, an error signal corresponding to decrease in frequ.ency will te.nd to

(@) decrease prime mover input (b) increase prime mover input

(c) decrease terminal voltage (d) increase terminal voltage
I15. In two systems with interconnecting facility, each system

(a) keeps its own reserve capacity

(b) can depend on the other system

(¢) need not keep any reserve capacity

(d) any of above depending on system size

116. In interconnected systems with tie line bias, t

(a) frequency changes only
(c) both frequency and the line load changes
117. A power system I is having interconnecting with two other power systems. The frequency
bias in this system is 0.2 Hz per 50 MW. One of the other two systems suffers a generation
loss of such a magni 2. Then power system I should

tude so that frequency drop is 0.02 H
(a) not pe affected MW to the other system

() provide 10
(¢) import 10MW from the other system (d) provide 20MW to the other system
118. If the frequency bias is set to0 low, an interconnected p

ower system will respond to troubles
in other systems with
(a) more than its share of bias respons€ (b) less than its share of bias response
(d) none of above

(c) correct the bias response
119. If a power system observes an accumulated time error, it should correct it by
(b) decreasing its own generation

(a) increasing its own generation
(¢) coordinating time error correction with other interconnected systems

them has a 5% governor drop

for reserve capacity

he systems respond to
(b) tie line load changes only

(d) either of above depending on system

(d) any of above
1 ratio current transformers

A metering system for a 220 kV, 3 phase power system has 200:
1 ratio potential transformers connected line to ground. 1f power

ower in kW will be obtained by multiplying the measured power

120.
in each phase and 600 :

factor is unity, the actual p
by a factor
(a) 360
121. SCADA systems require
(a) a separate communication channel for each RTU
(b) continuous attendence at each RTU
(c) frequency shift data channels to RTUs
(d) provision for entering the retrieving and data at master unit

(b) 120 (c) 120000 (d) 3600
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of er unit can serve
8
(b) Each

unication channel ¢, RT
a -
Ve many RTUs U requires a separate master

!
(‘) ﬂ‘h 0051 is less than party line systep,

ors
V ““" only at RTUs
| (b) pr
h p :‘; . voltagledartl: current to proper form tr:n:::de graphic display
) et 1 digital data to analog data 1ssion over channels
@ pefore operate procedure’ refers to

w Asclect
¢ jon by RTU of the function to be performed
¢ $ mod by which the operator cheeks that correct devices y,, be
Ve been selected before

‘b) rm ng an operatlon
'af‘:hc Jformation received by master unit from RTU
(:)

!

0
jay of single line diagram of the power system

ucers
rl“sd vert digital quantities to analog quantities
(a) vey Massage from master unit to RTU
H onvey confirmation message from RTU to master unit

) @

(d) convert quantities being measured to a current or voltage proportional 1o measured
tity-

o omatic generation control (AGC)

i( ) always requires a special and separate computer
j can be provided by a special program in the SCADA master unit computer

lude transmission losses (d) cannot be relied in some Cases.

C) cannot inc
ts to prime movers of generators of a power system does not match load

0 [fmechanical inpu

changes-
(a) system frequency will be low

(¢) system losses will be decreased
(d) system frequency and voltage will deviate from normal
3 When a synchronous generator is operating stably and a load change occurs, the rotor will

() not be affected
(b) advance in its position re
(0) oscillate for some time and finall
(d) either (@) and ()

3 When the rotor of a synchronous generat
action can be provided by
(a) governor

X (EC) fast acting voltage regulator
HV lines and equipment
(@) contain only inductance and capacitance
(b) obey the some electrical laws which are valid at low voltages
(©) donot obey the electrical laws which are valid at low voltages

@ either (b) or (¢) depending on system

(b) system losses will be increased

lative to stator revolving field
y settle to its new position

or oscillates because of load changes, corrective

(b) manual control of excitation
(d) all the above
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131.

132.

133.

134,

135.

136.

137.

138.

139.

140.

141.

142

5D SYSTEM ; opepamion #D COlvel
When a long transmission line is suppiv:
; pplyin
(a) shunt capacitance and charging cu:lrengt 2::: oad
. : o
(b) the md'uctance of the line results in substy .mlnalt y < iit
(¢) the resistance of line cayges large vo| ntia] voltage drop
(d) voltage regulation may be eifive tage drop
When a long transmission line .
(o el ngg en':mls;smn !me 1S Operating under off-peak load conditions
(b) receiving end Voltage 18 always Jegs than sending end voltage
(¢) receiving end :Oltage may be Jower than sending end voltage
: Oltage m .
(d) either (a) ang © ay be more than sending end voltage

When series Capacitors

: . are used in a transmission line
(a) line stability is decreased

b
(b) Ph.ase a.ngle between voltages at sending end and receiving end, under peak loag
conditions, is reduced

(c) Ph.ase angle between voltages at sending end and receiving end, under peak load
condition, is increased

(d) either (b) or (c) depending on system

The voltage drop across a series capacitor baak is proportional to

(@) line current (b) line voltage

(c) size of conductor (d) both line current and voltage

Shunt reactors are connected at the terminals of high voltage lines to

(a) increase the receiving end current

(b) increase the receiving end voltage under peak load conditions

(c) decrease the receiving end voltage under peak load conditions

(d) decrease the receiving end voltage under off peak load conditions .

The real power transfer over a line depends mainly on

(a) power angle (b) sending end voltage V

(c) receiving end voltage V, @ V.-V,

The reactive power transfer over a line mainly depends on

(a) power angle (b) sending end voltage V

(¢) receiving end voltage V, (CIARA

For a long line the receiving end voltage under no load conditions is

(@) equal to sending end voltage (b) less than sending end voltage

(c) more than sending end voltage (d) any of above

The units of inertia constant H are

(a) J per MVA (b) kV per MVA

(¢) MJ per MVA (d) kA per MVA

The inertia constant H of an alternator of 200 MVA is 6. The value of H corresponding to
a base of 300 MVA will be

(@) 9 (b) 4 (c) 6 (d)13.5
Which has the highest installed generating capacity in India

(a) thermal (b) hydro (¢) nuclear (d) gasturbine
The percentage increase in installed generating capacity every year in India is approximalel)’

(a) 1% (b) 6% (c) 20% (d) 50%

/
I
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installed generati o
leal ing capacity in India is it

I/ ot
M?&s"f 0!?) 1 8 0.5% of total
WP of ot iohest 30% of tota
I 209"}‘1“6 followmg thaS highest number of auseiliaries ‘
({)ﬁ‘b ’ al power pies (b) hydro power plant
/ Mﬂﬂ POMr plant : (d) gasturbine powe
& diescl fo“owing needs very long transmission lines to r plant
! o of d;zctric plant (b) diesel po::? Plower to load centres
il hydroe e power ant (d) steam power P‘ant
e asf“f:;l lowing has highest forced outage rate pant
)7 e
;mioh g, Jectr® plant (b) thermal power plant
0 gies® . following causes highest air pollution
(b) hydro power plant

v/hiCh 0 wer plam
power plant(d) diesel power plant

has the highest efficiency
(b) hydro power plant

e power plant
(d) gas turbine power plant

| power plant

dies® b
dit it is necessary

(cr pro ef energy au
2 0 neasure and record the quantity and quality of energy

"ot
0 measure and record the quantity and quality of waste energy

) to me
0 Jetermin€ and record all energy losses

all the above

; chronous condenser is usually
(b) over excited synchronous motor

(d) induction motor

input

# ;) dc generator
©) underexcited synchronous motor
Answers 10 Objective Questions

L@ 2. (a) 3. (d) 4. (a) 5. (a) 6. (a)
1. (b) 8. (b) 9. () 10. (b) 11. (b) 12. ()
13, (d) 14. (d) 15. (¢) 16. (b) 17. (¢) 18. (o)
19, (b) 20. (a) 21. (a) 22. (d) 23. (a) 24. (a)
5, (c) 26. (b) 27. (¢) 28. (¢) 29. (¢) 30. (¢)
3. (a) 32. (d) 33. (b) 34. (b) 35. (¢) 36. (d)
3. (a) 38. (b) 39. (a) 40. (d) 41. (b) 42. (d)
:: ((i)) 44. (a) 45. (b) 46. (d) 47. (b) 48. (b)
: 50. (d) 51. (b) 52. (b) 53. (d) 54. (a)

:i ic) 56. () 57. (a) 58. (a) 59. (b) 60. (b)
‘7: (;)) 62. (d) 63. (a) 64. (¢) 65. (¢) 66. (a)
n 68. (a) 69. (b) 70. (a) 71. (¢) 72. (¢)
" 74. (a) 75. () 76. (c) 77. (b) 78. (b)
5 o 80. (a) 81. (a) 82. (a) 83. (b) 84. (a)
86. () 87. (b) 88. (a) 89. (¢) 90. (b)

. < TRIO) Lt e et
T ————
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POWER SYSTEM : OpgRATION AND CONTROL
ARATICN T

91. (¢) 92. (a) 93. (a) 94. (a) 95. (b) 96. ()
97. (d) 98. (a) 99. (¢) 100. (b) ' 101. © 102. (a)
103. (b) 104. (¢) 105. (¢) 106. (c) 107. (d) 108. (a)
109. (b) 110. (b) 11. (b) 112, © 113. (@) 114. ()
115. (a) 116. (c) 117. (a) 118. (B) 119. (©) 120. (@)
121. (o) 122. () 123. (d) 124. (b) 125. (d) 126. (b)
127. (d) 128. (c) 129. (c) 130. (b) 131. (b) 132. (9
133. (b) 134. (a) 135. (d) 136. (@) 137. (@) 138. (9)
139. (c) 140. (b) 141. (@) 142. (b) 143. (@) 144 (@

145. (a) 146. (b) 147. (@) 148. (b) 149. (@) 150. (b)



